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EHARER |Kolllh 3,793 268 193 5 25 0 3,888 2,023 0 2,023 52.0%
p=gaekii] 2,767 213 149 22 46 4 2,851 1,826 0 1,826] 64.0%
INET 6,560 481 342 27 71 4 6,739 3,849 0 3,849 57.1%
BARRER |BAh 3,357 215 280 14 27 1 3,304 2,335 0 2,335}  70.7%
hDSEHET 1,122 95 67 5 5 0 1,150 640 0 64080 55.7%
AEILET 207 8 16 0 4 0 203 132 0 132 65.0%
= EPET 187 6 20 3 0 8 162 86 0 86 53.1%
INET 4,873 324 383 22 36 9 4,819 3,193 0 3,193] 66.3%
EBEERERT BT 2,121 109 144 16 16 0 2,086 1,415 336 1,751 83.9%
FoEEPHT 453 64 39 40 0 7 431 286 37 323} 74.9%
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INET 3,180 218 225 19 31 2 3,183 2,115 2 2,117}  66.5%
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FUMYER |&5t 27,966 413 612 81 60 43| 27,703 1,287 4 1,291 67.9%
Il 20,299 11,192) 55.1%
23 48,002 30,000] 62.5%
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